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And the law is when he is bound — M52 RN

OVERVIEW

X211 ruled that if the husband placed the v3 in his slave’s hand and granted her the
slave she is divorced.! The x 3 asked but the slave is a n%mn 2¥n (even if he is
standing still). The &3 answered Mo22 &n2%m. Our MoOIN discusses what this
means.
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We require that the 72¥ should be tied up and sleeping in order that he should be
considered a proper X7, as is indicated later in P97 279, where X211 states, ‘he

wrote a v for her and gave it into the hand of her slave, if the slave was —
— SANYTY XYY HINYNN I8N *NOINT 0 1R NP1 20X AT 90 ININYN |V

Sleeping and she was guarding him, it is a v, however if the slave was awake it

is not a w3, for the slave is a 931 which is not guarded under her control’ -
— “N> D997 98N V) 91 INAN YW 72999

And the X713 there asks, why is it a v3 (even) if he is sleeping, it is a moving “37.
— 199 N9 AW 1Y N3P RY 7919 19INRY 9 N9 9NN SINY JWO N13dSH 999

And if you will say that sleeping is different (because the 72v is not moving), but
X219 said, ‘anything that if it would walk it would not be 23 (for it is a X7

na%an), then even if it stands or sits it is also not 77332°, so how is the woman N2 by

placing the v in the hand of her slave?! The X 13 concludes -
— 1) 1N 9IP2T K29 9INP N*NINa 70‘1\?)1‘,7:1 Y99 /M9953 XN2YIN)

And this ruling is when the 72V is tied up. This concludes the &7723. And >'"w-
explains that 922 N2 means that it is in that case of n»> that X2 rules that
9I¥91 iS not a WA (even if he is M92) and 1w is a va [if he is MvI] -

" The 72y (which she acquired) is considered as her 7xm, and if the 3 is placed in her 1%7 she is nw .
* The 127 M7 amends this to read 202 829 IMKT.
? The 72y is considered her 7xn. Therefore if the v is placed in her %77 (in the hand of her 732¥), she is nw since it
is a ANYT? NYAnwAn 1.
* The n"a7 Max7 amends this to read 7% 7% X177
> The 72y is a conscious person (when he is awake) so he guards himself and the object (the v) which he is holding
(the woman does not guard him). A ‘regular’ 7% is guarded by its owner. Therefore since the 72V is not guarded by
his owner (the 7wR) he cannot be considered a (7NY7? NIANWNT) 7.
® A 731 can only be n11p if it does not move; a N2 7% is not ANP.
" In our *"w in M2 "7 R, P PID it states: LA M7 K2 IMRP RYTI2 7270 WD WRW. We can infer from this >"wA
that X217 said that it is a va only if it is M3 and obviously 12 (for X217 stated ©3 """ 12°), indicating that if he is 711
it is not a VA even if he is Md3. We derive from this that there are two requirements which are na>1 .
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And the 277 also ruled that we require o> and Jw°.

mooIN cites and rejects an alternate interpretation:
— 23U TIIYY AT NYT NN 8N YA RY MDa XN W10 5977 9199109 KIS

And we cannot say that this is the interpretation of the X13; and the 8n>%7 is
that by mp22 the 72 is not considered a no%m» =317 for it is not similar to 2w

2, since a M2 cannot move at will, as opposed to an 2w 1Y who can move should they

so desire -
— 1952 Y99NR RY N2 DYDY T9391 9133 TIND YW DIy M957 11999

And since no> is effective that it is not considered a na%an %m, so too 2 alone
(without nM9>) is also effective —

mooIN rejects this view of the "2 837"
— ANYTNR ROY NIMNWYND I8N 7T V) 1IN Y N2 9N INNIN )9 ONY

For if indeed it is so (that X271 is not discussing M52 [and N192 or W alone is a vi]),
why did X827 state that 21271 is not a vx for it is a TnYT> KOW naanwiT 237 -

— 03 97 RY °N12 INTNINY YaNA MMM PY 1D ANYTY 1INYN $D 199N
Even if the 72v was anp7h annwn, for instance his hands (only) were tied up
with a rope and she was holding the rope in her hands,"" it is still not a 3 -

— ZanbnT NomIT NN N9YNN Y8NT

For the 72v is considered a ns%m% =21 just like her basket is considered a na%mn 13r -
— RN N2I0NI NPT 2NN N2 NIMNIT (3,0 97 NYINI NIIT NP P92 NN 9INPT IND INT
For were it not for that which the X713 states there in the first P29 of »''2 noon
regarding 1n>p, that the 7n%p is at rest, however she is walking underneath it,
therefore the nn%p is not a N327n 2%, however were it not for this reasoning of Rm™3 n1n NP

XNN X°301 XpP7 1K) the rule would be that if the husband placed the 03 in her 7n%p -
— NPT NMNYNT ) HY 9N V) NI ND

8 The Mm173 M7 190 is generally attributed to (2137 NDPNN) KI™P NWnw ", others attribute it to 1IR3 "RTIT .
? According to the explanation of the 'n2 X297, the phrase M2 Xn27M is not referring back to the Xn3971 of X7
(that 71371 is not a v3 and w° is a v3), but rather it is referring to the statement of X237 that 72 7Ip R 7271 Y2°RW 9
71p X9 2w, and the XnoY7 states that even though 2w W is not 73p, nevertheless Mo (who cannot move) is 7P,
even if he is not j2°. It could then follow that 12 alone is also 721? since the 12 (like the n192) cannot move.
1% noo1n is making this statement (that if [only] N9 17 it is considered 7nwn) only according to the ' n XY
who maintains that 2°»1 7% [19371 17°] n193 and he is not considered (a n3%mn 787 or) INYT? X9 Wnwn. Therefore
a 172 Mo is considered TnNwn but it is N2, However according to nvowna nu*w, even a 1°23721 17122 Mvd (and
certainly a '7°2 193 alone) is not considered 1nwn. See *"&on. Others (2"m1 and *"72) disagree.
' See “Thinking it over’.
2 The X3 in n"2 asks that if the husband threw the v into her basket (which is on her head), she should not be
nwyan, for since the basket is moving (when she walks) it should be considered a na%mn 1%,

2

TosfosInEnglish.com



XN 71"7 '0I0 R,XD PUUa 702

It would not be a v» even though the 1n%p is NPT nanwn; the reason being
because it is a n37nn 1%, similarly by the hand-tied 72y, it is also not a vx for he is a No%an 73N
(even if he is anyT? Mnwn), so why did X237 say v3 WK M1 because he is not INYT? NNNWwn,
when X217 could have said that it is not vx (even if he is 7n¥72 7nWH) because of NI7an 3!

— 5958 M11993 N2 INT) NIN

Rather we must conclude that X239 is certainly discussing a case of s> —

mooIn discusses an anticipated difficulty:
— 799939 2813 NN M2 Y9INT NIN YT N D)

And when the X713 was not yet aware that X217 was discussing a case of M3, the

X123 could have asked (as mooin just asked on the "% X3°91') -
— ANYTY XYY NHINHYNT DIVN V) 1IN 9IPT NYIN INN

Why does ¥27 mention that 211 is not a v3 because it is TnY7TH XYW NN -
= N D199 A8NT ) NNYTY NINHYN I1PON

Even if it is 707> nannwn it is also not a v for it is a N9 3m —
999 N3 NOYTYT NIN

But the reason the X773 did not ask this question, because the X723 asked a better
question.

SUMMARY
For an 72¥ to be a 7¥n he must be jw» NMo2.

THINKING IT OVER

mooIn asked (on the T n% 83°91) that X217 could have discussed a case where it was
AnyT> namnwn if for instance his hands were tied and she was holding the rope."
Why is it necessary that she should be holding the rope, as long as she is alongside
him and his hands are tied it is seemingly Any7> nanwn?!'®

" Therefore the only reason why 771 is not a v is because it is not 7nyT> nnnwn (as opposed to 1w*, which is
7nYT? nnnwn). There is no point in X217 teaching us that if only his hand are tied it is not a vx (because he is a 13n
na%mn), for X237 has a greater w17°n that even if the entire 72V is tied so that he is not a N3%7n 2¥n, nevertheless it is not
a v, since he is not 7nYT? nNwn. It would seem that by no3 alone there is the issue of 7nY7> nanwn, and by Jw»
alone there is the issue of na%nn 1xn, for even though he cannot walk now, presumably as soon as he awakens he
will be able to walk, therefore j2" is no different from 721V or 2wY.
4 The xma actually asked that the statement of X237 (that vx 1">777 1) is incorrect, since it is (still) a n3%an 13,
however the X°wp that the X713 could have asked, which is that X317 could have said a greater w17°n, that is not as
strong of a question.
15 See footnote # 11.
' See w"wn
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